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QUESTION 1

What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service?

A. Batch Analytics Processors

B. Natural Analytics Processors

C. Static Analytics Processors

D. streaming Analytics Processors

Correct Answer: AD

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding- analytics-processors.html he type of
analytics processor to use depends on the nature of your data: Streaming Analytics Processors Use streaming analytics
processors to analyze high volumes of rapidly changing data streamed from your sensors and devices. Streaming
analytics processors arecontinuously running from the moment you deploy them, waiting for your devices to stream
data. See Creating Streaming Analytics Processors. Batch Analytics Processors Use batch analytics processors to
analyze large volumes of batch data. Typically, batch analytics processors process data stored in the Oracle NoSQL or

other data sources. Unlike streaming analytics processors they are not continuously running, they only run when you
call them using the REST API they expose.

QUESTION 2

Which three statements are true about business and data objects in OIC PROCESS?
A. Data objects can be created based on a business object

B. Enum objects are a special type of business object

C. Business objects can be created from an XML schema or from JSON.

D. Business objects can be created base on a data object

E. Business objects cannot contain other business objects

F. Business exceptions can use only the string data type.

G. Business and data objects are auto-generated when creating web forms.

Correct Answer: ABC

https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/define- data.html#GUID-
ED75D7B0-B60B-4107-9F86-6C63AAEB1A62

QUESTION 3
Which Service-Oriented Architecture Cloud Service (SOA CS) component provides stateful orchestration?

A. Oracle Mediator
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B. Oracle Business Activity Monitoring
C. Oracle Service Bus

D. Oracle Business Rules

E. OracleBPEL Process Manager
Correct Answer: E

Reference: http://www.oracle.com/us/products/middleware/soa/oracle-soa-suite-ds- 066430.pdf

QUESTION 4

Which setting is used for a system that is hosting a web application to be allowed to access Oracle Internet of Things
(IoT) Cloud Service resources?

A. Cross-Origin Resource Sharing (CORS)

B. Management Console Timeout Interval

C. Message Storage and Command Notification

D. OAuth Access Token Lifetime

Correct Answer: A

Explanation: The cross origin resource sharing setting specifies if the system that is hosting a web application is allowed
to access Oracle 10T Cloud Service resources. The assumption is that the web application is running in a browserthat is
also implementing the CORS specification. Any browser based JavaScript client running on the specified host can

access Oracle IoT REST APIs. However they will need to follow the Oracle 10T REST API authorization process to run
any operations. https://docs.oracle.com/en/cloud/paas/iot-cloud/iotsu/setting-cross-origin-resource-sharing- value.html

QUESTION 5

Which twoactions can be repositioned in integration with Oracle Integration Cloud (OIC)?
A. Function Call

B. Switch

C. Stage File with Read File in Segments

D. Stage File

Correct Answer: AB
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